
Julian is a freshman in college. He is running on the cross country 
team, he is working 10 hours a week so that he can minimize student 
loans, and he is working hard to maintain his 3.5 GPA. He only has 
time to sleep 6.5 hours a night and has limited time for friends or 
romance. When asked about his life satisfaction he says that he 
doesn’t experience a lot of pleasure and usually feels somewhat tired 
and stressed out, but he is content and feels like his life is going in the 
right direction. 


Assuming these are the most relevant details of Julian’s life, would 
you say that Julian: 


a. Has a high level of current well-being? Why or why not?


b. Will have a high-level of lifetime well-being? Why or why not?

1. Julian
Well being exercise



Anna is a 21 year old restaurant worker. She makes enough to 
cover rent and to frequently get blackout drunk after her night shift 
is over, but often has difficulty buying groceries or handling 
unexpected expenses. When asked about her life satisfaction, she 
says she is happy and “living her best life.” 


Assuming these are the most relevant details of Anna’s life, would 
you say that Anna: 


a. Has a high level of current well-being? Why or why not?


b. Will have a high-level of lifetime well-being? Why or why not?

2. Anna
Well being exercise



Nussbaum’s 10 Capabilities 



• Which person (Julian or Anna) currently has more well-being? In 
no more than 200 words, explain:


• the answer from each of the three theories discussed in class 
(hedonism, desire-satisfaction, and objective list).


• your own answer. 

Question


